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(Answer all Five Units § x 12 = 60 Marks)
UNIT-I
1 Using influence line diagrams determine the shear force and bending L3  12M
moment at section C in the simply supported beam shown in Figure .
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2 A train of 5 wheel loads as shown in Figure crosses a simply supported L3  12M
beamof span 24 m from left to right. Calculate the maximum positive and

negative shear force valuesat the Centre of the span and the absolute
maximum bending moment anywhere in the span.
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UNIT-II

3 Determine the deflection at free end of the overhanging beam shown in L1 12M
Figure. Use unit load method.
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OR
4 a Derive castigliano’s theorem;

L2 6M
b A simply supported beam of span L, carries a concentrated load P at a

L2 6M
distance a from left hand side support as shown in Figure. Using

castigliano’s theorems determine the deflection under the load. Assume
uniform flexural rigidity.
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|UNIT-III|
5

Analyse the continuous beam shown in Figure and draw bending moment

L3 12M
diagram.
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6  Analyse the frame shown in Figure and draw bending moment diagram. L3 12M
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UNIT-1V
7 Analyse the continuous beam ABCD shown in Figure by moment L2 12M
distribution procedure.
20 kKN/m 40 kN 40 kN
A s~ B i C ¢ D
I &R =Y 53
L2k - 2 m"&]

‘4-—3m—>l4—- 4m——c44————— Sm ———]

Page 2 of 3



Q.. Code: 19CE0111 R19

OR .
8 Analyse the rigid jointed frame shown in Figure by moment distribution
method and draw bending moment diagram.
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UNIT-V

9 Analyse the continuous beam shown in Figure, if the downward settlement
of supports B and C are 10 mm and 5 mm, respectively. Take El = 184 x
1011 Nmm?. Use flexibility matrix method
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10 Analyse the continuous beam shown in Figure by stiffness matrix method.
Take El constant throughout.
~ 40 KNm ,- 20 kNm
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